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III SEMESTER B.A/B.COM/B.B.A./B.H.M.
EXAMINATION, APRIUM AY 202'I

(CBCS) (F+R) (201S-1G and Onwards)
SCIENCE AND SOCIETY

(Non-Core)

TimeAllowed:SHours Maximum Marks : 70

INSTRUCTIONS TO CANDIDATES

lmmediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
lf any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.
Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.
Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR Sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.
This Question Booklet contains 55 questions, Part-A contains 40 questions of one mark
each. Fart - B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the oMR sheet.
All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. lf more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.
Questions are in both English and Kannada. lf any confusion arises in the Kannada
version, please refer to the English version of the questions.
lmmediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the lnvigilator you may
leave the examination hall.
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PART - A

?Iorl- o

Choose the best option. Each question carries one mark.

QP - 497

(40x1=40)
erd'rrqd.> 

"o3rf,d:q 
ero:r. d,.9 €,d4oJD r.odl uodd$o dooadldd.

1. High Yielding Variety seeds (HYV) were introduced to Indian farmers as a
result of
a) White Revolution
c) Red Revolution
'add domaabaron dr{F.astdo Oedld aOd zrexd$dl (azr{a) e^ndeeo$ d_rdorl
do?3ogrie;Doudr.
a) aP 69oe b) dRr& 6goe
c) do$ tsos d) deno qloe

2. Which one of these depletes the ozone layer and causes global warming ?
a) Nitrogen dioxide b) CFCs c) Ammonia d) Ail the above
'adil9O-oJDdub t"doe$ dd6d)4 anO dndrgd abq 6Drl9d oddnd Dodri
radeaaarbgd ?
a) mdtrffi € u{rd b) tuaflrrlsb c) erdoeOoln d) d:eOd os*

3. Photovoltaic energy is the conversion of sunlight into
a) Chemical energy b) Biogas
c) Electricity d) Geothermal energy
dJre asrr6dd d$ob inodcrd zjgd$4
a) oaxaobOd dg
c) adlren

a) Cell biology
c) lmmunology

b) Green Revolution
d) Orange Revolution

erA dod8rt'o{.1cb.
b) 4,ad cOe
d) doma0d dg

b) Ecology
d) Genetics

i

4. The study of genes, heredity and variation in living organisms is called

deil6rl9 erdro$d, erdliogdg drd; dear*ro;$ dorfrffi1 orocb ddo$enrbdd.
a) doed dedeo{ b) dond aq$
c) doerlOdoefd en{ d) er$do9d

SPACE FOR ROUGH WORK

A
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5. The Industrial Revolution began in country'

a) GermanY b) Britain

c) Russia d) America

drrooca 69oe deddO-agdo$mourd:.

n

a) a;d.lrO
c) d@,r

6. The term 'Operation flood' refers to
a) Flood control
c) Food-grain Production
'roolnrzddd 

$and' aou ddd
a) {,ood Oo$o$ea
c) uatd-Qad, wo'odd

a) C. F. Bennett
c) Sir Schuyler Skaats Wheeler

b) €,t^3d6
d) erd>eoro

b) Milk production
d) Population control

erdl dou3Brgd.
b) oael eroaodd
d) oldBoan, 0oJro$ea

b) Sir Louis Pasteur
d) Sir Samuel W. Francis

3

7. Department of science and technology a funding agency falls under which

ministry ?
a) Ministry of Science and Technology
b) Ministry of Information and Broadcast
c) Ministry of Agriculture
d) None of these

D?s*d d:4 do$qd.aena3 ddnoaob n4oJ)Dd izsaosodrd eraodro ud:dd r

a) amd drQ dog$ idaroerod:
b) drDb.9 ilQ dxad izSaae;oJ:
c) dd& idaae.rod>
d) .aoDdddo sel-

8. The process of Pasteurization was discovered by

4. - *

5.

6.

7.
ao-d,roeddead dgo3ro$q oJ"d, dod>hGddr ?
a) tu. aW6. tido,tr b) nd erooo)Fs qqro'

c) nd dloSce.rd nqaeexf 0 no6 xardlroScef dupr. wgilv'

SPACE FOR ROUGH WORK
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9. Moving from one website to another is called

a) jumping b) attaching c) browsing

QP - 497

d) downloading

z.cd: d?trdr[s0od "adnooddd z,SOirdd$4 adocb ddoS:epd:qd ?
a) dnd b) e.rrt.atdla: c) zQ,xron' d) dayehe6onr

10. The National Science Day is observed every year in India on

cogeo$ Aqd Adddl {,9d-'.:*r qndddO- docb er?'30isDrbgd.

a) 28th of January
c) 28th of March

a) 28de agddo
c) 28de dnztrr

a) Photonics
c) Spectroscopy

b) zStn of February
d) 28th of April

b) 28de d?,do
d) 28de aqel

11. First ever artificial satellite to orbit the Earth was
a) Sputnik b) Explorer c) Vostok d) Aryabhata

q1lotuo$$". do$tunrd dode.: drdd wd{,d
a) B:odar b) a{dgede c) {penc*tr d) uolrrqlt"l

12. First man to land on the moon was launched by
a) Apollo 9 b) Apollo 10 c) Apollo 1 1 d) Apollo 12

z3 o {, d d:e eJ dod e,: dD ddBbd'ag obedri'a ddlo u$d en o9rd:.

a) er{Beto 9 b) erdBejo 10 c) u{petn 1 1 d) erdpe}o 12

13. The examination of minute objects is called as
b) Microscopic
d) None of these

c) {drgednoea

do{"ddrd ( d3dgdooearr )
'4urgdldo ere.:-

14. In 1928, Alexander Flemming discovered
a) Penicillin b) Streptomycin c) Cefalofloxin d) Toxin

1 92 8 dO- eeiuo.uodcf -.gal onr $Da d el{ed#
a) dilOo6 b) tdp*d:rrror c) idejoedlLe{or d) snlof

SPACE FOR ROUGH WORK

fud*, dQ rl9 doed ob$:o beri ddobsarbd d
a) dBeosoeq b)

d)
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15. Laser Technology is widely used in
a) medicine b) cutting c) welding

a) Amino acid
c) Citric acid

a) aadoeo
c) z,nrlds r.S€ed

b) Fatty acid
d) None of these

b) t {trdae.:_
d) gnrtde r{dl6er_

c) dedd

| illilIt |lilt ilt ||]t illil ilil iltl

d) all the above

from the

eJedcf do$ zo ddabo ala, ddarEn obdddO_ ugBortl$ d ?
a) EdQ b) ddoxbdub c) dOoorn d) abeod aeA

16. Soaps are manufactured from

xaero$il$e o:"Odood do$DoisDibgd ?
a) eld.:rdo uafi_ b) dozgoaal
c) xrgur udtr d) qdrlgo_o$Dgdo ee.r_

17' science is the field of study that is concerned with discovering and describingthe world around us by observing and experimenting. 
-

a) Agree b) Not agree
c) Partially agree oi nartiaity not agree
aqFd od,dd.{.lgaanubo acrr da{r,Jgod gdoesddl rrdbofrrddd d:osd
"bq goloenfr:d dme$ adoxbdd.

18. The Ramanujan prize was awarded to the fierd ofyear 2005.
a) Physics b) Chemistry c) Mathematics d) Biotogy
2005 ood ood>ibrgdrr udrdnddq _
a) qPdm{ b) d;oo$C it

fle9aO_Oedorbdd.
d) dedo{

19. The information revolution began with the invention ofa) Computers
c; rnteg,ated circuits 3i h:?':H these
o1:Dd uo)wooddooOri dn&e ilgog agdogloroo0;$ ?
a) do{pro"rorrlsb
c) eouSd e8or ddo", ro,rd$

b) uoraurooafrl$t)
d) .acJEdddo elo_

SPACE FOR ROUGH WORK

A
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20. The first animal sent to space is

22.

a) o*i6. d.qtJ?pD

c) D. .b. d. eruref deno

23- OFC stands for
a) Optical Fibre Cables
c) Optical Forged Cables

OFC oodd
a) Optical Fibre Cables
c) Optical Forged Cables

24. Photonics includes
a) Generation of light
c) Modulation of light

{pedoe{ r9rtooadrgctr
a) ai$sd woapd
c) rJd8d dnd:reJedo6

a) Sheep b) Fruitfly

zmaarroddo d+b&dend dodel a9e6
a) $o b) @F€'_,

TCP/IP is a
a) Hardware
c) Internet protocol suite

TCP/IP erfld.
a) o$oogod (aaarrded)
c) eosdrrs dgeoSoeoef iotr

Who is called as Missile Man of India ?
a) H.J.  Bhabha
c) A. P. J. Abdul Kalam

b) Vikram Sarabhai
d) Sathyendra Basu

b) Dgdf naoag:ooJf
d) SdreoQ, ulo

b) Optic Forced Cables
d) Optical Fibre Can

b) Optic Forced Cables
d) Optical Fibre Can

b) Amplification of light
d) All of these

b) aJ96d ee$dad
d) ede$B

-7- QP - 497

21.

c) Cat

c) aJS.

b) Software
d) Virus

b) ;o{ded
d) {dF6

d) Dog

d) nnog)

C"dq q:oddd Ldrd d:d>q ood> ddoJ:end:qd ?

SPACE FOR ROUGH WORK
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25. which of the foilowing is not rerated to sorar photovortairc systems ?a) Cooking
c) lrrigation

b) Lighting
d) Generation of electricitv

ililililt fil] ill filtf ilil ilil ilf|

* d*ndddse)_ oiDdcb xpd cbd.'De,%da 4dederi Bou*e&% ?a) ud:ri " b) zJgnroee:)
c) 0eoodO d) acf^s'eruadd

I  . )

26. Danvin's theory of evorution is based on the concept ofa) Competition
c) Natural selection 

b) Energy distribution
d) None of these

coD&Filfd efoid xco*oddl otDd dodedo$d.1 ufiO,rrd t
:l {tl ^^e_ 

\4' 
b) }g CIdd#c) {dnrd ooj'o d) q6%ddro ere.r.,"

27. fnsulin is secreted by
a) Kidney b) pancreas
c) Intestine d) Thyroid
qdood enbpar d OfDedolrl ooarbgctr
a) d:ogafa b) ar:edeededd doQc) d$sb d) 6oDcJ%

28. Gasohol is the mixture of
a) Gasoline and alcohol b) Methanol and ethanolc) Water and alcohol d) None of these
rmrdoedoeef qdd tug soaDnd
a) rordoeOil' il* uelooeoae;' b) a:doa*= drq admerc) &edc ubq sd, d) notrc*e e_e*

29. HTML stands for
a) Hyper Text Marking Language b) Hypertext Markup Languagec) Hyper Text Making Link d) Higher Textuar Marking of LinksHTML aodd
a) Hyper Text Marking Language
c) Hyper Text Making Link

b)
d)

Hypertext Markup Language
Higher Textual Marking of Links

SPACE FOR HOUGHWORK

A
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30. The objectives of experiments include

a) Testing hypothesis
b) For supporting and negating theory
c) For gathering about natural phenomenon
d) All the above

$ Cn erlrl# encd eddgir deodJacacJ+ dr
a) tora de,'d
b) rm#dd:o aloa:Oier: drd: &DdoBer)
c) dinrd Odddrddd u{nog&re,r
q dseed .re4

31- One nanometer is
a) 10+ m b) 10-10 m
e.cd$ oa, doa;eogcf oodd

QP - 497

Fddd dode.: ddCneal C.frrd qdd
ef a<nd;d b) drm 

w 
c) oooJcCnd:

3& The only metal in liquid state is

&l- Flrst Nuclear Power plant in India is at
a) Tarapur b) Kaiga c) Raichur

a) [ron b) Mercury c) Calcium
gd:6sc$oJbd adrE eined
a) d%ro b) aoddi

34" LED stands for
a) Laser Emitting Diode
c) Light Emitting Device
LED oodd
a) Laser Emitting Diode
c) Light Emitting Device

c) carOoS:o O) *nr{e&o$o

b) Light Emitting Diode
d) Laser Emitting Device

b) Light Emitting Diode
d) Laser Emitting Device

a) 10+ m b)  10-10 m

c) 10-e s1

c) 10-e rp

d) 1 0-1 rr1

d) 10-1 p

d) Madras

d) a3:o-gr

d) Magnesium

A

SPACE FOR ROUGH WORK
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35. Non conventional energy sources are

a) Biomass, solar' wind

c) Thermal, nuclear' digll

xao{, croourdder-d eoddd dmelrt$'l

a) dedcnS, Sd, naq
cl eru* dddnear' aedef

36. GPS stands for
a) Global Pointing SYstem

ti Otou"l Positioning SYstem

GPS aodd
a) Global Pointing SYstem

ti etoo"l Positioning SYstem

b) Nuclear, coal, Petrol
d) All the above

b) dorf,odJd, do-doe'u, duSgeef

0 dreOd aea

b) General Positioning SYstem

Oi CotOen Positioning SYstem

b) General Positioning SYstem

Oi eonen Positioning SYstem

37. Which is the base of scientific development ?

a) physics b) chorri;it c) Engineering d) Mathematics

*33j;t-of;dr"*ol H*1L€ c) aod&o3.roonr d) rr'dd

33.Themostenergyefficientandenvironmentsafesourceof|ightis
a) CFL 

'-.e' 
b) LC; c) LED d) LPG

ejdsd erdrod dqob d{'ilQ dodd rDd|d *:*odrddr
a) tuaq6a; 

"=* 
-t[i3J*- ca,' 

c) aef'ac d) acad

3g. process in which two right nuclei combine to form a heavy nucreus is called

a) Fusion reaction b) Fission reaction

c) Radioactivity 
d) Transmutation

add: Ssordodf,;$F6rts'r uod>rloa3r ?poe d^'t-o*'x' Y*"| T*nJqd
a) nalerd ;ba* 

b)-Ddsd 4s9o1)

c) asdeae*6g- 
d) {'ddrd

40. In which State of lndia' Amul dairy is located-?

a) Bihar b) Raiasthan c) Guiarat

erdDet ddoob) 'dr dsnd oJDd oaardO-qa*enhd t

a) aoad b) *o;ioJ$ t) tl'"-d

d) Karnataka

d) dort^td

ipnce FoR RoucH woRK

A
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3. Galileo
4. Copernicus

2. ?,tJef r ero^?,Je$
^ J A

3. rlOOoJoe
4. doedOrrlf

- 1  1 -

PART _ B
qroil- D

c. Theory of evolution
d. Father of Modern Science

b. dOoiodouJ,ndf
c. AdJffi troaod

O

d. erdr$d ezrcdd dod' .6rt

QP - 497

(15x2=30)Choose the best option. Each question carries two marks.
e$rgdr 

"o3rf,dlq 
erotu. d,.9 €,84o&o oddt eoddnbo doood:dd.

41. Match the correct pair :
1. Charles Darwin a. Computer
2. Charles Babbage b. Heliocentrism

a) 1-d,z-c,3-a,4-b b)  1-b,2-d, .3-a,4-c
c)  1-  a,2-  b,3-c,4-d d)  1-  c ,2-  o,3-d,4-b
ioolDd doe&o3:nbo dooOtr :
1. ?,'JqF oa&raf a. do"€oduid

a)  1-d,2-c,3-a,4-b
c)  1-?,2-b,3-c,4-d

42. The benefits of genetically modified crops are
a) Pest resistance
b) Crops that withstand environmental stress
c) lmproved nutrional value
d) All of the above
dq dndrGd si$d$ {,oSoeasdrlst>
a) Eeu odoeCdd
b) dond #dddl dd&drosbF ddrl$t)
c) t'oqnod uPa5aodd dJEer,
d) dreOd oe.t;dB

b) 1-b,2-  d,3-  a,4-c
d)  1-c,2-a,3-d,4-b

SPACE FOR ROUGH WORK

A



-12- l il]illt lffl lil lllll lllll llll llllQP - 497

43. Match the correct Pairs :
1. M. S. Swaminathan a. Nobel Laureate

2. Kurien Varghese b. Ordinance on Food Security Bill

3. Pranab Mukharjee c. Green Revolution
4. Sir C. V. Raman d. Father of White Revolution
a) 1-a,z-b,3-c,4-d
c) 1-c,2-d,3-b,4-a
dooat udogro :
1. ao. ax6. xo;il:ilodd a. doajef d)dBod
2. $oeoj:or dhrex6 b. e:6"d'iDdlddo$ drnndc$ d>eej ucmrded

3. {,eouf d>aDdr c. dtid: 6}09

4. dd tu. A. ooabor d. are ugo9o$ rdd
a)  1-  a,2-  b,3-c,4-d b)  1-b,2-  c ,3-  d,4-a
c)  1-c,z-d,3-b,4-a d)  1-d,z-a,3-c,4-b

44. Expand GSLV.
a) Geo circular Satellite Launch Vehicle
b) Geo elliptical Satellite Launch Vehicle
c) Geo synchronous Satellite Launch Vehicle
d) Geo orbital Satellite Launch Vehicle

GSLV &SotJ.
a) Geo circular Satellite Launch Vehicle
b) Geo elliptical Satellite Launch Vehicle
c) Geo synchronous Satellite Launch Vehicle
d) Geo orbital Satellite Launch Vehicle

45. The term sustainable development refers to devebprnent d economy at
a) high rate
c) judicious use of resources

b)  1-b ,2-c ,3-d ,4-a
d)  1-d ,2-a ,3-c ,4-b

b) low rab
d) reckless use d r€sources

loAd e4ddaooou dd{ uQrddoJ: eQddof$$ frrE2,3tgd
a) d4p ad b) dad) d

c) noddrgc.rrt$ otro$olld uSd d) nodi3rgorlg gtsrfics udd

SPACE FOR ROUGH WORK

A
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a) 1984
c) 1986

a) 1984
c) 1986

47. VIBGYOR is the
a) Visible
c) Infrared

b) 1952
d) 1e87

b) 1952
d) 1987

part of electromagnetic spectrum.
b) X-ray
d) Microwave

b) ad"d
d) Qrdgedeor

b) Java page
d) Domain page

b) Global warming
d) None of these

b) esorl9d soddnd
d) .actDdddro eo-

-13- QP - 497

46. Chernobyl nuclear disaster occurred in the year

z,Sdoeraref dddnear d:dodS oJDd ddrd{noqleld ?

VIBGYOR aoz.r:d; Dd:rooo8eoJ: deard*sd ryorluond.

48. When surfing the web, the browser interprets the HTML command found in a
document file and disPlays it as

a) roeald
c) 'ao669dar

a) Applet page
c) Web page

a) Environmental change
c) Health change

a) doBd udendd
c) udoerf udendd

dr,f eldl i.pronr atndcaarl, sBSd aodcrd.rottr qefdO- dod.rald:d HTML

"goJrq 
aaranr&d;qd drQ odq $darfodd.

a) udn,f $e^l
c) dt;l6 -'.Uln^l

b) zsaao $t^i
d) doQril'd)ri

49. The observed increase in the average temperature of the air near earth's
surface and oceans in recent decades indicates

.a$edd ddddgO_ dotuo$ ubeelrer drdl xiaddil$ iil:edad:d rroqo$ icniO

addnddO-d deil$d) qd$o iro?3lDdd

SPACE FOR ROUGH WORK
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50. Drug is
a) produced bY endocrine glands
b) produced bY exocrine glands
c) are secreted through pituitary gland

d) externally administered chemical substances

{,n€ aoddedr ?
a) eodsngdd f, oQrlgod erDggotDrbdd
b) ado;fudf d,oQiteod erudgo3nt$Qd
c) aarrn^lo d,oQodJ droe-:d 4D$9d
d) em{oaR Pdrbfod cnxaobpd dt'lrl$b

51. Satish Dhawan space centre is situated in

a) Bengaluru
b) Ahamedabad
c) Chennai
d) Sriharikota

a)
b)

b) India Telecommunications Satellite
c) Inter Telecommunications Satellite

d) $eOd oJn$do erel-

iged ddil' zaoaruod deo{'d aO-qadaahd t
aJorldodr
sddrcroeuo66

c) ?,3q,r
d) Q,edodoetl

52. INTELSAT stands for
a) International Telecommunications Satellite
b) India Telecommunications Satellite
c) Inter Telecommunications Satellite
d) None of the above

INTELSAT aodd
a) International Telecommunications Satellite

SPACE FOR ROUGH WORK

A
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53. Match the Scientists and their Discoveries :
Scientist

a. Alfred Nobel
b. Edward Jenner
c. Newton
d. Thomas Alva Edison
a) a-3,b-1,c-4,d*2
c) a-3,b-4,c-1,d-2
a?Dpd$b drdJ qrdd saaadrl$dl

. 6 P r U o (

aRp
a. erej cr do?,iet

?)
b. addr ddd

05 o(

Discovery
1. Vaccination
2. Electric bulb
3. Gravitational force
4. Dynamite

b) a-4,b- 1,c-3,d-2
d) a-2,b- 1,c-4,d-3

dooOi.r :

eiAFord
1. aa.Sdedof

O /.J

2. Od:^d uef
O U

3. rbd>soddreo dE

4. dddQ,$
b)  a-4,b-  1,c-3,d*2
d)  a-2,b-  1,c-4,d-3

b) Charaka Samhita
d) Aryabhatiya

QP - 497

c.

d.
a)
c)

dJD^[Jdro
o

Aa$Fo eren_aGiaf
a-3,  b-  1,c-4,d-2
a-3,  b-4,  c-  1,d-2

54. Ancbnt Incfian lfiowledge of theories on human body, symptoms of disease
ard remedee h Aprveda are made available In which Sanskrit text ?
a) Arfnsfnslra
c) Chandassftasfra

a) Nano technology applications
c) Smart materials

b) Biotechnology application
d) Metallurgical sciences

b) €0d do$aod er{ourd
d) d:t"lerdrdef {qF

dDdd dedd $oadfrurcdlCg?ied qnd8eo3r ryd, sroi)derddO_d doerld
eldeort$: d$Q doodrGb Sd FoFbd ddddO_e,tUJraand f
a) er$ruo{ b) ?3d iosoa c) qSodem{ d) uod:rqloJeo$

55. Manufacture of water and stain repellent clothing is made using

&ed: utreb dei Odroeda u{rf$$o qdrlgq erudolneA$ do$Do$enri:dd.
a) 6ra,,doUo$qd er{obdrlstl
c) rgnfr dt'Drl$b

SPACE FOR ROUGH WORK

A


